Graph to find all REAL solutions.
X3 —4x? +x+26=0 ——x=-2
since -2 is a real solution (x+2) is a factor of the original polynomial.

If x+2 is a factor use polynomial Find the zeros of this other factor
division to find another factor. to get the remaining 2 solutions.
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Therefore, the three solutions to the original cubic
are -2(real) and 3£2i (imaginary)

-1 and 2jare solutions of this equation. The other two solutions
are imaginary. turn these two zeros into the following

Find the other two solutions. factors: (x+1) & (x-2). You can now
divide the original equation by one of

X4 _ x3 + 2x2 —4x — 8 = () these factors:
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— X 4% factor, x-2, or we could try to factor this
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— g% - we would end up with x2 + 4 as well.
O We now have the following factors of the

the original problem:
(x+1)(x-2)(x*+4)

These factors lead to the following four

solutions: | xi=-1.2. tZﬁ




